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A van can hold 9 people d

How
many trips are needed to get




o |

X
12
>
12
.
12
9
12
vt | ; T
Which addition expression shows (" .
o 6 %hqﬂwﬁu
decompasition of = ? A
2.1 Fe—al | 2 w‘
8'8'8's | \
42 1
P gtats \
1,12 2
8 8 8 8 |
2+2+2 2 ;
88 8 8 b

Page 6 of 16



What Is the sum? w‘.
Use the number line to solve the el Jal aslf) Job pabied
' dedeinia
=
DL EREREE

K- AR AR U

Ma-.a-lm-an
%T% 5 A a2 - g

r,ﬁim- uﬂ,ﬁ-ﬂ-&ijﬂ-h

Page 7 of 16



solved an addition problem A€ \Bi] (il pay
involving mixed numbers. Tolde lgila A paad As A
What is the addition problem Alia
solved?
.
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0 1 2 1% 3
2 1 3 1 z 3
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